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3XML�V\XNXU�NHKDGLUDW�$OODK�6:7�DWDV�UDKPDW�GDQ�KLGD\DKQ\D��GLGXNXQJ�SHQXK�ROHK�

NHOXDUJD�WHUFLQWD�\DQJ�WLGDN GDSDW�GLJDQWLNDQ�VHKLQJJD�SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�

7JDV�$NKLU� LQL� \DQJ� EHUMXGXO� ³$SOLNDVL� 7HV�.HSULEDGLDQ�0HQJJXQDNDQ�0HWRGH�

0\HUV�%ULJJV� 7\SH� ,QGLFDWRU �0%7,�� %HUEDVLV�:HEVLWH 8QWXN� 3HQJHORPSRNDQ�

7HPDQ�.DPDU�$VUDPD�3DGD�8QLYHUVLWDV�7HONRP´�VHEDJDL�VDODK�VDWX�V\DUDW�XQWXN�

PHQ\HOHVDLNDQ�SURJUDP�VWXGL�VWUDWD��6LVWHP�,QIRUPDVL��)DNXOWDV�5HND\DVD�,QGXVWUL��

7HUVHOHVDLQ\D�7XJDV�$NKLU�LQL�WLGDN�WHUOHSDV�GDUL�GXNXQJDQ�GDQ�GRD�EHUEDJDL�SLKDN��

VHKLQJJD�SDGD�NHVHPSDWDQ� LQL�SHQXOLV�GHQJDQ�VHJDOD�NHUHQGDKDQ�KDWL�GDQ SHQXK�

UDVD�KRUPDW�PHQJXFDSNDQ�WHULPDNDVLK�NHSDGD��

�� $OODK�6:7��DWDV�VHJDOD�OLPSDKDQ�UDKPDW��NDUXQLD�GDQ�KLGD\DKQ\D��6HPRJD�

LOPX�\DQJ�VD\D�GDSDW�EHUPDQIDDW�NHGHSDQQ\D�

�� .HGXD�RUDQJ�WXD��GDQ�NHOXDUJD�\DQJ�VHODOX�PHQGRDNDQ�NHVXNVHVDQ�SHQXOLV��

PHQJLQJDWNDQ� XQWXN� PHQMDODQNDQ� LEDGDK�� GDQ� PHPEHUL� PRWLYDVL� DJDU�

SHQXOLV�GDSDW�PHQ\HOHVDLNDQ�WXJDV�DNKLU�LQL�

�� %DSDN�'U��,UIDQ�'DUPDZDQ��67���07��6HODNX�GRVHQ�SHPELPELQJ���7XJDV�

$NKLU� \DQJ� WHODK� PHOXDQJNDQ� ZDNWX� XQWXN� PHPEHULNDQ� ELPELQJDQ� GDQ�

VROXVL�GDODP�SHQJHUMDDQ�7XJDV�$NKLU�LQL�

�� $QQLVD�GDQ�'DQLDU�VHODNX�WHPDQ�VHNHORPSRN�SHQXOLV�GDODP�PHQJHUMDNDQ�

7XJDV�$NKLU�LQL�\DQJ�VHODOX�EHUMXDQJ�WHUXV�EHUVDPD�SHQXOLV�

�� 6HPXD� WHPDQ�WHPDQ� \DQJ� VHODOX� PHQGXNXQJ� SHQXOLV� GDUL� EHODNDQJ��

PHPEHULNDQ�VHPDQJDW�VHUWD�KLEXUDQQ\D�

'DODP�SHQJHUMDDQ GDQ�SHQ\XVXQDQ�7XJDV�$NKLU�LQL��SHQXOLV�PHQ\DGDUL�EDKZD�

PDVLK� WHUGDSDW� NHNXUDQJDQ� GLGDODPQ\D� NDUHQD� NHWHUEDWDVDQ� ZDZDVDQ� GDQ�

SHQJHWDKXDQ� \DQJ� GLPLOLNL�� 2OHK� NDUHQD� LWX�� SHQXOLV� PHPRKRQ� PDDI� DWDV�

NHNXUDQJDQ�\DQJ�DGD�GDQ�VHNLUDQ\D�GDSDW�GLEHULNDQ�VDUDQ�GDQ�PDVXNDQ�\DQJ�

EHUVLIDW�PHPEDQJXQ�EDJL�SHQXOLV��$NKLU�NDWD��SHQXOLV�EHUKDUDS�EDKZD�7XJDV�
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$NKLU� LQL�GDSDW�EHUPDQIDDW�GDQ�GLJXQDNDQ�GHQDQ�VHPHVWL�GDQ�VHEDLN�EDLNQ\D�

ROHK�VHPXD�SLKDN�\DQJ�PHPEXWXKNDQ�
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